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QUASTION:-1 PART-(A) TWO HIGH STRENGTH FLEXIBLE STEEL CABLES AB AND AC ARE FASTENED

TO THE CEILING OF A BUILDING THROUGH HIGH CARBON STEEL HOOKS AT POINT B & C. THESE CABLES
ARE KNOTTED TOGETHER TO A 3RD CABLE AT POINT A WHICH IS HOLDING A THICK WALL WATER TANK
WEIGHTING 400 POUNDS AND IS FULL OF 3000 LITERS OF WATER VOLUME. WHAT PERCENTAGE OF
THE WHOLE WEIGHT IS BEING HELD BY CABLE AB ALONE? WHAT AMOUNT OF TENSIONS MUST BE
THERE IN BOTH THE CABLES TO MAINTAIN THE STATIC EQUILIBRIUM OF THE SYSTEM

PART-(B) IF THE WATER TANK WEIGHT AND VOLUME OF WATER ARE INCREASED 15% AND 35%
RESPECTIVELY WHAT EFFECTS WILL OCCUR ON RESULTS OF PART-A.
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QUASTION:-2 FOUR FORCES ARE EXERTED ON THE EYEBOLT AS SHOWN BELOW. IF THE NET
EFFECT ON THE BOLT IS A DIRECT PULL OF 600 POUNDS IN THE Y-DIRECTION, DETERMINE THE VALUES
OFTAND ©
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QUASTION:-3 CALCULATE THE REACTIONS AT SUPPORTS
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